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            ( ) 

Attempt each questions:      50x2=100 

(1) Purpura is related to - 
(a)  Liver     (b) Blood  
(c) Both     (d) None 

(a)       (b)    
(c)    (d)  

   
(2) Which is more healthier - 

(a)  Saturated fatty acid  (b) Unsaturated fatty acid  
(c) Both     (d) None 

  
(a)     (b)   
(c)     (d) 
 

(3)  ________helps to excrete Billirubin by making soluble - 
(a)  Kidney    (b) Liver  
(c) Both     (d) None 

  
(a)  (b)   

(c) (d)  

(4)  Specialized fluid connective tissue is - 
(a)  Lymph    (b) Blood   
(c) Both     (d) None  

 
(a)     (b)  

(c)       (d) 



(5) Functions of small intestine is - 
(a)  Digestion    (b) Secretion   
(c) Absorption    (d) All above  

  
(a)       (b)  
(c)     (d) 

 
(6) Site of synthesis of Vit. K is - 

(a)  Liver     (b) Skin  
(c) Both     (d) None  

   
(a)      (b)   
(c)      (d)  

(7) Cell Membrane is - 
(a)  Outer covering   (b) Inner part  
(c) Both     (d) None  
Cell Membrane  
(a)    (b)  
(c)     (d) 
 

(8) Types of Agglutinogen protein is - 
(a)  A      (b) B 
(c) Both     (d) None  
Agglutinogen  
(a) A  (b) B 
(c)     (d) 
 

(9) Hemoglobin is present in - 
(a)  Thrombocyte   (b) Leucocyte  
(c)  Erythrocyte   (d) All above  

 
(a)  Thrombocyte   (b) Leucocyte
(c)  Erythrocyte   (d) 
 

(10) _____helps to grind the food - 
(a)  Molar    (b) Premolar 
(c) Both     (d) None  

grind  
(a)      (b)  
(c)   (d) 

 
 



(11) Straining of Urine in Kidney occur through _____process - 
(a)  Osmosis    (b) Filtration  
(c)  Both     (d) None 

 
(a) Osmosis    (b) Filtration 
(c) (d) 
 

(12) Grave yard of Red blood cells is - 
(a)  Spleen    (b) Liver  
(c) Kidney    (d) None  

 
(a)       (b)  
(c) (d) 
 

(13) Total TLC count in blood is - 
(a) 4-11 thousand/cumm  (b) 6-10 thousand/cumm  
(c) 10-15 thousand/cumm  (d) None  

TLC  
(a)  4-11 thousand/cumm  (b) 6-10 thousand/cumm 
(c) 10-15 thousand/cumm  (d) 

(14) Same type of cells form - 
(a)  Cells     (b) Tissues  
(c) Both      (d) None  

 
(a)     (b)    
(c) (d) 
 

(15) If bone marrow stops forming all types of blood cells, the disease will be - 
(a)  Aplastic anemia   (b) Pernicious anemia    
(c) Both     (d) None  
Bone Marrow  
(a) Aplastic anemia   (b) Pernicious anemia
(c) (d) 
 

(16) Erythrocytes with pin like holes is known as  - 
(a)  Hypchromic   (b) Pyknotic cells   
(c) Both     (d) None 

 
(a) Hypchromic   (b) pyknotic cells    
(c)     (d) 
 

  



 
(17) Organic element are - 

(a)  Protein    (b) Vitamin  
(c) Both     (d) None  

 
(a)      (b)   
(c)     (d) 

(18) Number of Leucocytes present in blood is - 
(a)  80 – 90%     (b) 30 – 40%  
(c) 20 – 40%    (d) None  

 
(a) 80 – 90%    (b) 30 – 40%
(c) 20 – 40% (d) 

(19) Type of blood cells are - 
(a) Three    (b) Five   
(c) Both      (d) None  

 
(a)    (b) 
(c) (d) 

(20) Presence of Kidney shaped Nucleus and big grains is - 
(a)  Neutrophill    (b) Lymphocytes   
(c) Basophil    (d) None  

 
(a) Neutrophill   (b) Lymphocytes  
(c)  Basophil    (d) 
 

(21) Size of Monocytes is - 
(a) 14 – 16   µ    (b) 10 – 14 µ     

(c) 14 – 20 µ    (d) None  
 

(a) 14 – 16 µ   (b) 10 – 14 µ 

(c) 14 – 20 µ (d) 

 
(22) B-Lymphocyte is related to - 

(a) Humoral immunity  (b) Cellular immunity   
(c) Both     (d) None 
 B-Lymphocyte  
(a) Humoral immunity  (b) Cellular immunity    
(c)      (d) 
 
 



 
 

(23) It contains Hydrolytic enzymes - 
(a)  Mitochondria   (b) Lysosomes  
(c) Both     (d) None  

Hydrolytic enzymes  
(a) Mitochondria   (b) Lysosomes  
(c)      (d) 
 

(24) Cholesterol takes part in - 
(a) Synthesis of Bile Salts  (b) Synthesis of sex hormones 
(c) Both     (d) None  

 
(a) (b) 
(c) (d) 

(25) Albumin is synthesized in - 
(a) Kidney    (b) Liver  
(c) Both     (d) None  

 
(a)    (b)   
(c)     (d)  

 
(26) Energy obtained by the catabolism of One gm. of protein is  - 

(a) 4.2 K calories   (b) 5.2 K calories   
(c) 8.0 K calories   (d) None  

 
(a) 4.2 K calories   (b) 5.2 K calories 
(c)  8.0 K calories   (d) 

(27) Lipase helps in hydrolysis of - 
(a) Protein    (b) Fat  
(c) Both     (d) None  
Lipase hydrolysis  
(a)     (b)   
(c)      (d) 

(28) Type of Globulin are - 
(a) Alfa     (b) Beta 
(c) Gamma     (d) All above  

 
(a)     (b)  
(c)    (d) 



 
(29) Bile juice is formed by - 

(a) Intestine    (b) Heart  
(c) Both     (d) None  

 
(a)    (b)   
(c)     (d) 
 

(30) Homeostasis regulates - 
(a) High Blood Pressure  (b)Temperature  
(c) Both     (d) None  
Homeostasis  
(a)    (b)   
(c)      (d) 

(31) _____helps in formation of Antibodies - 
(a) Vitamins    (b) Carbohydrate    
(c) Fat      (d) None  

 
(a)      (b)      
(c)     (d)  

 
(32) Fat is absorbed in this form - 

(a) Fatty acid    (b) Amino acid  
(c) Both     (d) None 

 
(a) Fatty acid    (b) Amino acid   
(c)     (d) 

(33) Examples of body fluids are - 
(a)  Lymph    (b) Synovial fluid  
(c) Both     (d) None  

 fluids  
(a)      (b)   
(c)  (d) 

(34) Cells perform - 
(a) Respiration   (b) Excretion  
(c) Reproduction   (d) None 

 
(a)    (b) 
(c) (d) 



(35) Per day production of Saliva is - 
(a) 5 Litres    (b) 2 Litres   
(c) 1.0 to 1.5 Litres   (d) None  

 
(a) 5 Litres    (b) 2 Litres
(c) 1.0 to 1.5 Litres (d) 

(36) Example of Fluid tissue is - 
(a) Blood    (b) Lymph   
(c) Both     (d) None  

 
(a)     (b)    
(c)    (d) 
 

(37) Functions of blood are – 
(a) Defence     (b) Coagulation  
(c) Regulation of water  (d) None  

 
(a)      (b)   
(c)    (d) 

 
(38) The fluid in the cell is known as - 

(a) Cytoplasm    (b) Nucleoplasm  
(c) Both     (d) None  

 
(a)     (b)    
(c) (d) 
 

(39) Lymphoid connective tissue are found mainly in - 
(a) Digestive system  (b) Respiratory system 
(c) Both (d) None
Lymphoid connective tissue  
(a)    (b)     
(c) (d)  
 

(40) Amount of blood store in Spleen is - 
(a) 100 ml    (b) 120 ml 
(c) 160 ml     (d) None  

 
(a) 100 ml    (b) 120 ml
(c) 160 ml (d) 



(41) ‘J’ shaped organ is - 
(a) Liver     (b) Stomach  
(c) Intestine        (d) None  
‘J’  
(a)      (b)   
(c)      (d)  

 
(42) ______helps in Coagulation of blood - 

(a) Albumin    (b) Globulin   
(c) Fibrinogen    (d) None  

Coagulation  
(a)     (b)  
(c)    (d) 

(43) ____is necessary for formation of Glucose - 
(a) Carbon    (b) Hydrozen  
(c) Oxygen    (d) All above  

 
(a)     (b)   
(c)    (d) 
 

(44) The Protein synthesized by microbes is - 
(a) Antibody    (b) Antigen 
(c) Both      (d) None  
Microbes synthesize  
(a) Antibody    (b) Antigen 
(c)     (d)  
 

(45) The colour of stool in Post Hepatic Jaundice is - 
(a) Dark     (b) Clay 
(c) Pale     (d) None  
Post Hepatic Jaundice  
(a) Dark     (b) Clay  
(c) Pale     (d)  

(46) Made of DNA and RNA - 
(a) Nucleus    (b) Ribosomes  
(c) Both     (d) None  
DNA RNA  
(a)    (b)  
(c)      (d) 



(47) In cell synthesis of protein occur in - 
(a) Nucleus    (b) Mitochondria   
(c) Both      (d) None  

synthesis  
(a)     (b)      
(c)     (d) 
 

(48) Jejunum is the part of - 
(a) Large Intestine   (b) Small Intestine 
(c) Liver     (d) None  
Jejunum  
(a)   (b)   
(c)    (d) 

(49) Infected liver will be responsible for - 
(a) Hepatic Jaundice  (b) Post Hepatic Jaundice 
(c) Both     (d) None  

 
(a) Hepatic Jaundice  (b) Post Hepatic Jaundice 
(c)      (d) 

(50)  ______helps in repairing of cuts in blood vessels - 
(a) Thrombocytes   (b) Leucocytes    
(c) Both      (d) None  

 
(a) Thrombocytes   (b) Leucocytes     
(c)       (d) 

………… 
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CHINESE ACUPRESSURE (CA-1) 
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      (ONLINE EXAM)

Objective Questions ( )

Attempt each questions:      50x2=100 

(1) Leg correspondence will be in - 

(a)  Thumbs    (b) Index finger   
(c) Middle Finger   (d) None 

(a)  (b) 
(c)   (d)

(2) Primary correspondence of Appendix is - 

(a)  Left sole    (b) Right palm   
(c) Left palm    (d) None 
“Appendix”
(a)    (b) 
(c)    (d)

(3)  Total points in Liver Meridian are - 
(a)  12     (b) 14    
(c)  9     (d) None 
Liver Meridian
(a)  12     (b) 14    
(c)  9     (d) 

(4)  Joy emotion related organ is - 

(a)  Heart    (b) Lungs   

(c) Liver     (d) None 

(a)      (b) 
(c)      (d) 



(5) In “Sujok”, Su means - 

(a)  Head    (b) Hand   

(c) Leg     (d) None 

“Sujok”  Su

(a)    (b) 

(c) (d) 

(6) Black colour related element is - 

(a)  Wind      (b) Earth  

(c) Fire     (d) None 

(a)     (b) 

(c)   (d) 

(7) Lt elbow correspondence will be - 

(a)  Thumb    (b) Rt Middle finger  

(c) Lt Index finger   (d) None 

(a)     (b) 

(c)     (d) 

(8) Fire is the mother of - 

(a) Wood    (b) Earth      

(c) Water    (d) None

(a)      (b) 

(c)     (d) 

(9) Energy of St – 36 is - 

(a)  Humidity    (b) Heat   

(c) Wind     (d) None 

St-36 

(a)      (b) 

(c)     (d) 



(10) Controller of Metal is - 

(a)  Water     (b) Fire    

(c) Earth     (d) None 

(a)      (b) 

(c)      (d) 

(11) Passage point of Lungs is - 
(a)  Lu - 11    (b) Lu - 7  
(c)  Lu - 9    (d) None 

Passage
(a)  Lu - 11    (b) Lu - 7
(c)  Lu - 9    (d) 

(12) Sedation colour of Spleen is - 

(a)  Red     (b) Blue   
(c) Green    (d) None 

(a)      (b) 
(c)    (d) 

(13) Energy of Lu – 11 is - 

(a)  Coldness    (b) Wind   
(c) Heat     (d) None  
Lu – 11
(a)     (b) 
(c) (d) 

(14) “Appendix” will be treated by - 

(a)  Rt palm    (b) Index finger    
(c) Thumb    (d) None  
Appendix ( ) 
(a)    (b) 
(c)     (d) 

(15) Controller of Spleen is - 

(a)  Heart    (b) Kidney   
(c) Liver     (d) None  

(a)      (b) 
(c) (d) 



(16) Last point of Heart Meridian is located on- 

(a)  Index finger   (b) Small finger   
(c) Middle finger   (d) None 

(a)      (b) 
(c)     (d) 

(17) ‘Anger’ emotion related organ is - 

(a)  Heart    (b) Spleen   
(c) Liver     (d) None 

(a)       (b) 
(c) (d) 

(18) Bone marrow meeting point is - 

(a) GB - 34    (b) GB - 39   

(c) GB - 10    (d) None  

Bone marrow meeting
(a) GB - 34    (b) GB - 39    
(c) GB - 10    (d) 

(19) Which point will be applied after becoming unconsciousness - 

(a)  Gv – 4    (b) GB - 39   
(c) Gv – 26    (d) None 

(a)  Gv – 4    (b) GB - 39  
(c) Gv – 26 (d) 

(20) Dryness energy related element is - 

(a) Fire     (b) Wood  

(c) Metal    (d) None  

Dryness energy
(a)       (b) 
(c)     (d) 

(21) Wind point of Heart meridian is - 

(a)  H – 9    (b) H - 8  
(c) H - 10    (d) None 
Heart meridian Wind point 
(a) H – 9    (b) H - 8  
(c) H - 10 (d) 



(22) Muscle related Influential point is - 

(a) UB – 11    (b) GB - 39  

(c) GB - 34    (d) None  

Muscle Influential point
(a)  UB – 11    (b) GB - 39
(c) GB - 34    (d) 

(23) Body hair related element is - 

(a)  Wood    (b) Water  
(c) Metal    (d) None  

(a)     (b) 
(c) (d) 

(24) Element related to autumn season is - 

(a)  Earth    (b) Water   
(c) Wood    (d) None  

(a)    (b) 
(c)     (d) 

(25) UB – 23 is Back Shu point of - 

(a)  Lungs    (b) Kidney   
(c) Spleen    (d) None  
UB - 23 Back Shu point
(a)     (b) 
(c)     (d) 

(26) Green colour related element is - 

(a)  Earth    (b) Wood   
(c) Fire     (d) None  

(a)      (b) 
(c) (d) 

(27) Opening of Kidney organ is - 

(a) Nose     (b) Tongue  

(c) Ears     (d) None 

Opening
(a)    (b) 
(c) (d) 



(28) 7 AM to 9 AM time is related to - 

(a)  Liver     (b) kidney  
(c) Stomach    (d) None  
7 AM 9 AM
(a)     (b) 
(c)     (d) 

(29) Distal point of Chest is - 

(a) Li - 4     (b) P - 6   

(c) Tw - 6    (d) None  

(a)  Li - 4     (b) P - 6  
(c) Tw - 6    (d) 

(30) Yang organ is - 

(a)  Liver     (b) Spleen 
(c) Small Intestine   (d) None  
Yang 
(a)       (b) 
(c) (d) 

(31) Throat correspondence will be in - 

(a) Small Finger    (b) Index finger  

(c) Thumb    (d) None  

(a)     (b) 
(c) (d) 

(32) Creation of wood will be by ____element– 

(a) Fire     (b) Metal   

(c) Water    (d) None  

(a) (b) 

(c)     (d) 

(33) Tonification colour of Liver is - 

(a) Green    (b) Brown    

(c) Blue     (d) None  

(a)       (b) 
(c) (d) 



(34) Analgesic point is - 

(a) Sp - 6    (b) Li - 4    

(c) Lu - 7    (d) None 

(a)  Sp - 6    (b) Li - 4    
(c) Lu - 7    (d) 

(35) ‘Lu – 1’ is the Front Shu point of - 

(a) Heart      (b) Spleen    

(c) Lungs    (d) None  

Lu – 1 Front Shu point
(a)       (b) 
(c) (d) 

(36) Energy of Liv-3 is - 

(a) Coldness    (b) Wind   

(c) Heat     (d) None 

Liv - 3
(a)     (b) 
(c)     (d) 

(37) Total points in UB meridian are - 

(a) 45     (b) 60   

(c) 67     (d) None  

UB 
(a) 45 (b) 60    

(c) 67 (d) 

(38) Yin organ is - 

(a) GB     (b) Si    

(c) Liv     (d) None  

Yin organ
(a)  GB     (b) Si   
(c) Liv     (d) 

(39) Earth point of Spleen meridian is - 

(a) Sp - 6    (b) Sp - 3    

(c) Sp - 9    (d) None  

(a) Sp - 6    (b) Sp - 3   
(c) Sp - 9    (d) 



(40) Organ related to Body hair is - 

(a) H - Si    (b) St - Sp   

(c) Lu – Li    (d) None  

(a) H - Si    (b) St - Sp    
(c) Lu – Li    (d) 

(41) Energy of P meridian is - 

(a) Coldness    (b) Wind    

(c) Hotness    (d) None  

P meridian
(a)      (b) 
(c)     (d) 

(42) Meaning of TCM is – 

(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian 

(c) Traditional Chinese Man   (d) None.  

TCM
(a) Traditional Chinese Medicine (b) Traditional Chinese Meridian  

(c) Traditional Chinese Man    (d) 

(43) Controller of all six Yang meridian is - 

(a) Cv     (b) St    

(c) Gv     (d) None  

(a) Cv     (b) St  
(c) Gv (d) 

(44) Small Intestine meridian starts from - 

(a) Thumb    (b) Index finger  

(c) Small finger   (d) None  

(a)     (b) 
(c)    (d) 

(45) Luo Connecting point of Pericardium is - 

(a) P – 9     (b) P - 6    

(c) P – 7     (d) None  

Pericardium Luo Connecting point
(a) P – 9     (b) P - 6  
(c) P – 7 (d) 



(46) 1 Am to 3 AM time is related to - 

(a) Lungs    (b) Liver   

(c) Stomach     (d) None  

1 Am  3 AM 
(a)      (b) 
(c) (d) 

(47) Horary point of Heart is - 

(a) H - 8     (b) H - 9    

(c) H - 1     (d) None  

Heart Horary 
(a)  H - 8     (b) H - 9  
(c) H - 1     (d) 

(48) Pulse meeting point is - 

(a) P – 6     (b) Lu - 9   

(c) St - 36    (d) None  

Pulse meeting point
(a) P – 6    (b) Lu - 9 
(c) St - 36   (d) 

(49) Source point of Kidney is - 

(a) K - 3     (b) K - 4   

(c) K – 6     (d) None  

Kidney Source point
(a) K - 3     (b) K - 4    
(c) K – 6    (d) 

(50) Liv – 3 is Front Shu point of - 

(a) Spleen    (b) Lungs   

(c) Liver     (d) None 

Liv - 3 Front Shu point 
(a)     (b) 
(c)     (d) 

   ………..
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Objective Questions ( )

Attempt each questions:      50x2=100 

(1) In Ayurveda meaning of  ‘Veda’ is - 

(a)  Knowledge   (b) Mantra    
(c) Life span    (d) None of these 

(a)       (b) 
(c)     (d) 

(2) In Acupressure meaning of  ‘Acu’ is - 

(a)  Magnet    (b) Seed  
(c) Colour    (d) None  

(a)     (b) 
(c)    (d) 

(3)  It is related with Ayu - 
(a)  Body     (b) Wind    
(c) Water    (d) None 

(a)      (b) 
(c)     (d) 

(4)  Which is physical element - 

(a)  Water    (b) Direction 

(c) Time     (d) None  

(a)       (b) 
(c)     (d) 



(5) Mind is - 
(a)  Physical element   (b) Metaphysical element  
(c) Both     (d) None 

(a)       (b) 
(c) (d) 

(6) Number of physical element is - 
(a)  Four     (b) Six     
(c) Five     (d) None  

(a)     (b) 
(c)      (d) 

(7) Correspondence of Rt Hip region is - 
(a)  Rt SF    (b) Rt RF   
(c) Rt IF     (d) None 

(a)     (b) 
(c)     (d) 

(8) Lt thumb related number is - 
(a) 3     (b) 5   
(c) 9     (d) None

(a) 3     (b) 5 
(c)  9     (d) 

(9) Metaphysical element is - 
(a)  2     (b) 5 
(c) 8     (d) None 

(a)  2     (b) 5 
(c) 8     (d) 

(10) Correspondence of Rt Leg is - 
(a)  Index finger   (b) Small finger  
(c) Middle finger   (d) None 

(a)      (b) 
(c)    (d) 



(11) Treatment of Kaal element is on - 
(a)  Rt IF     (b) Lt RF  
(c) Lt SF     (d) None 

(a)  Rt IF     (b) Lt RF
(c) Lt SF    (d) 

(12) Element related with Aakash element is - 

(a)  Touch    (b) Smell  
(c) Sound    (d) None  

(a)       (b) 
(c)     (d)

(13) Element related to Heart is - 

(a)  Wind     (b) Fire   
(c) Water    (d) None  

(a)      (b) 
(c) (d) 

(14) Spine related finger is - 

(a)  Rt MF    (b) Rt SF    
(c) Lt RF    (d) None  

(a)     (b) 
(c)    (d) 

(15) Correspondence of Rt wrist is - 

(a)  Rt IF V jt    (b) Lt RF V jt   
(c) Rt RF P jt    (d) None  

(a) Rt IF V jt    (b) Lt RF V jt
(c) Rt RF P jt (d) 

(16) Sound is the energy of - 

(a)  Aakash    (b) Vayu 
(c) Agni     (d) None  

(a)     (b) 
(c)       (d) 



(17) Rt Thumb related number is - 

(a)  0     (b) 1  
(c) 2     (d) None 

(a) 0     (b) 1 
(c)  2 (d) 

(18) Number related to Direction is - 

(a) 2      (b) 6  

(c) 7      (d) None  

(a) 2      (b) 6  
(c) 7     (d) 

(19) In a finger vertical meridian number is - 

(a)  2      (b) 8   
(c) 10     (d) None  

(a)  2      (b) 8  
(c) 10 (d) 

(20) Energy related to Jal is - 

(a) Sound    (b) Touch 

(c) Taste    (d) None  

(a)      (b) 
(c)    (d) 

(21) Common attribute are - 

(a)  Number    (b) Soft   
(c) Sharp    (d) None  

(a)      (b) 
(c) (d) 

(22) Method is - 

(a) Common attribute  (b) Specific attribute    

(c) Both     (d) None   

(a)      (b) 
(c)      (d) 



(23) Skin is - 

(a)  Sense organ   (b) Action organ  
(c) Both     (d) None  

(a)     (b) 
(c) (d) 

(24) It is related with Vaat - 

(a)  Aakash + Vayu   (b) Agni + Jal   
(c) Jal + Prithvi   (d) None  

(a) +    (b) +
(c) +     (d) 

(25) Which one is sense organ - 

(a)  Eyes     (b) Leg 
(c) Hand     (d) None  

(a)      (b) 
(c)    (d) 

(26) Which one is not a common attribute - 

(a)  Method    (b) Near   
(c) Rough    (d) None  

(a)      (b) 
(c) (d) 

(27) Which one is not related with Pitta - 

(a) Agni     (b) Jal   

(c) Prithvi    (d) None  

(a)      (b) 
(c) (d) 

(28) Sharp attribute is - 

(a)  Common    (b) Specific  
(c) Both      (d) None  

(a) (b) 
(c)  (d) 



(29) 12-00 night to 8-00 am time is of - 

(a) Vaat     (b) Pitta   

(c) Kapha    (d) None  

12-00 8-00 
(a)      (b) 
(c)     (d) 

(30) Gall Bladder related element is - 

(a)  Akash    (b) Agni   
(c) Vayu     (d) None  

(a)     (b) 
(c)     (d) 

(31) As per Biological Clock time of Pitta-Pitta is - 

(a) 10 – 2 AM    (b) 6 – 8 PM    

(c) 4 - 6 AM    (d) None  

(a)  10 – 2 AM    (b) 6 – 8 PM
(c) 4 - 6 AM (d) 

(32) Lt RF Vaat joint is related to - 

(a) Cervical    (b) Thoracic    

(c) Lumber    (d) None  

Lt RF 
(a)     (b) 
(c) (d) 

(33) ‘Heavy’ is specific attribute of – 

(a) Jal     (b) Prithvi  

(c) Aakash    (d) None  

(a)     (b) 

(c)     (d) 

(34) Vaat dosh related number is - 

(a) 1+2     (b) 3+4    

(c) 4+5     (d) None  

(a) 1+2     (b) 3+4    
(c)  4+5    (d) 



(35) Related with Lungs - 

(a) Rt Small finger   (b) Lt Index finger     

(c) Rt Ring finger   (d) None  

(a)   (b) 
(c)  (d) 

(36) How many LVM are in Lt thumb - 

(a) Six     (b) Five  

(c) Ten     (d) None  

LVM
(a)     (b) 
(c)    (d) 

(37) ‘Radiance’ related element is - 

(a) Vayu     (b) Agni    

(c) Jal     (d) None  

(a)       (b) 
(c)    (d) 

(38) Navel related joint is - 

(a) Rt Thumb V jt   (b) Lt IF K jt    

(c) Lt RF V jt    (d) None  

(a) Rt Thumb V jt   (b) Lt IF K jt   
(c) Lt RF V jt    (d) 

(39) Specific attribute of Jal is - 

(a) Rough    (b) Cold    

(c) Stable    (d) None  

(b)    (b) 
(c)    (d) 

(40) Which one is a action organ - 

(a) Skin     (b) Eyes   

(c) Leg     (d) None  

(a)      (b) 
(c)     (d) 



(41) Nose related finger is - 

(a) Finger No. 2   (b) Finger No.4    

(c) Finger No. 5   (d) None   

(a)     (b) 
(c)    (d) 

(42) Ear related joint is – 

(a) Both SF P jt    (b) Both IF P jt    

(c) Rt RF P jt    (d) None.  

(a) Both SF P jt    (b) Both IF P jt

(c) Rt RF P jt    (d) 

(43) How many dosha  - 

(a) One     (b) Two 

(c) Three    (d) None  

(a)      (b) 
(c) (d) 

(44) Organ plotted on Rt Index finger Vaat jt is - 

(a) Gall Bladder   (b) Small Intestine     

(c) Urinary Bladder   (d) None 

(a)     (b) 
(c)      (d) 

(45) Treatment of eye is - 

(a) Rt IF K jt    (b) Lt IF K jt  

(c) Rt SF V jt    (d) None  

(a) Rt IF K jt    (b) Lt IF K jt 
(c) Rt SF V jt (d) 

(46) Bone tissue related joint is - 

(a) Rt RF P jt    (b) Lt RF K jt  

(c) Rt IF P jt    (d) None  

(a) Rt RF P jt    (b) Lt RF K jt  
(c) Rt IF P jt (d) 



(47) Light attributed is related to - 

(a) Aakash    (b) Prithvi    

(c) Jal     (d) None  

(a)      (b) 
(c)   (d) 

(48) Flame is related to - 

(a) Aakash    (b) Vayu 

(c) Agni     (d) None  

(a)   (b) 
(c)     (d) 

(49) Atma element will be treated by - 

(a) Finger No. 0   (b) Finger No. 8  

(c) Finger No. 9   (d) None  

(a)  0    (b)  8   
(c)  9 (d) 

(50) Smell energy is related with - 

(a) Aakash    (b) Vayu   

(c) Prithvi    (d) None  

(a)     (b) 
(c)     (d) 

……..


